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® -3x+5=2x-5 @)4-3x=-2(x-2)-x
® 6-x=+x @)3x-5=3(x-2)+1

® 4(x+1)=-2

~&B

@® -3x+5=2x-5
@4-3x=-2x+4-x,
4-3x=-3x+4
®6—x=+x

@ 3x-5=3(x-2)+1,
3x—-5=3x-6+1,
3x-5=3x-5

® 4(x+1) =-2,
dx+4=-2
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@D 2x-4=—x @5x—|—1=3x—|—5
® 4(2+3x) = —6x-28 @ 7(x-3)=—(x+11)

® —4(x-1)=2(x+8)
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2x—4 = —x

4
3x=4 . x=-
X X 3
5x+1=3x+5

2x=4 .. x=2

4(2 4 3x) = —6x—28
84 12x = —6x — 28
18x=-36 .. x=-2

T(x=3)=—-(x+11)
Tx—21=-x-11

5
8qx=10 .. x=-
X x=7

—4(x-1)=2(x+3)
—4x+4=2x+16
—-6x=12 .. x=-2
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20 <2x - 38) = —50 (x — 0.36) — 30
40x — 72 = —50x + 18 — 30
90x = 60
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D x=-5 @ x=-4 @x:3
@ x=6 ® x=10

4xx=-1
2x4-3xx=-1
8§—-3x=-1
-3x=-9

Lx=3
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2(3x+1) =4(x+1)

6x+2=4x+4
2 =2
x=1

et g =1 0|B2 24 +7=9
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—3x+27=6x,4x+a=28

@ -20 @—4 ® 4 @ 20 ® 24

i) —3x + 27 = 6x ] S E T3t
—3x+ 27 = 6x

27 = 6x + 3x

27 = 9x

x=3

ii) x = 3= 4x + a = 8 o] Joted, a 9] LS F3ATh
dx+a=28

4%x3+a=8

12+a=28

a=8-12

a= -4
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—6+ax=-2x-6
ax+2x=-6+6
(a+2)x=0

a+2=0, a=-2




Ox-d4=x-20"x=-29
W — (-2)2-4=4-4=0
oW =-2-2=-4

2pa} 9 Ho] 2] PR ¢ = —3 L &7} ot
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24x 4+ 12y = 24y — 18

24x =12y — 18
1 3
T
1 3
a=—-, . b=—-
=3 1
1
a+b=——
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Fact.

—4x—-84+48=16+8%BE2a=bL Y, a+c=b+c
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11. ax 5 = 3 3 = WESh= 5713 4 o, o 9
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x =13 & tYstH
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X+x+7+x+14 =66
o x=15

N Zre 42 y@td sHAE, N Sk, x+ 7, x4+ 14 o]t}
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5ol 222 8 AE
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@ 310 74 @320 7} ® 330 7
@ 340 i ® 350 7l

B

e HEolst A47t 23 Gl 27| 45
8x, 5x 72t shd

(8x—8): (bx+8)=3:2

15x + 24 = 16x — 16

L x=40

mrebA, A "&o|7F 7FA AL QlE 29| =
8 x 40 = 320(7M)
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10x + 150 — 30x = 24
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